THOFEERBEHE REHME

A H 1 LN X 1) (o1=
4 | 22 BIBETBEXNE 300,000 300,000| N BB E R &
5 | 29 aF—F#K 2,340  297,660| & FIERE
6 | 20 BEBAR(REBHESISEMBIOESR) 880 296,780| EHIEEAE
7 | 12 |[FEHREERTEB (BE) 29,150  267,630| EHBEAE
8 | 23 129K 10,300 257,330 & $HERE
8 | 28 AE—RASHAX(BEZEERDT=H) 720  256,610| EHMERE
9 | 2 |BEWEEMRE(A3HS—500%) 10,780  245,830|/L$RE

9 | 10 YRAENMEAK (L HIBIREAEDT=6) 2,700  243,130| EHEBEAE
1 3 %ﬁgfﬁégﬁgﬁfﬁfﬁ“”jw* #E 5830  237,300| ERIEEAE
11| 22 |EEBAZE(100FKRENVEFTYY) 25,800| 211,500\ EHBEAE
12| 1 |[EFTESBESERANES 1512  209,988| LR E

1 | 23 mMEATESBERIEBAMESEES 1,000(  208,988|HAZEHHEE
1|15 ZEEAHEREROLOOERER0 5092| 203,806 EHEEAL
1 | 31 [OE—m#k 1872 202,024 BHMERE
3 | 3 |EEEAZ(BBAKRKRET0MNBBook) 2,090| 199,934| EHEAE
3 | 31 DN (ARRAGE THOFA~T 57,600  142,334| EHIEEAE

a &t 300,000f 157,666| 142,334




